
lzif{s g+= /sd

172300000

60000000

112300000

7922000

35300000

2500000

50039000

268061000

112300000

155761000

2111 tna 6600000

21121 kf]iffs eQf 250000

d+x+uL eQf 696000

:yfgLo eQf 1200000

cGo eQf 400000

sd{rf/L a}&s eQf 400000

sd{rf/L sNof)f sf]if 300000

sd{rf/L pTk|]/)ff tyf k|f]T;fxg 100000

kfgL ljh'nL 300000

kbflwsf/L a}&s eQf tyf cGo ;]jf 

;'ljwf 7500000

;+rf/ vr{ 500000

OGwg kbflwsf/L 300000

OGwg sfof{no k|of]hg 2000000

;jf/L ;fwg dd{t 2000000

sfof{no ;`rfng vr{ 3700000

kq klqsf %kfO{ tyf ;"rgf k|sfzg 600000

s/f/ tyf cGo ;]jf z'Ns 5000000

ufp;ef tyf sfo{qmd ;`rfng vr{ 1400000

cg'udg d'Nof+sg vr{ 1500000

;?jf e|d)f vr{ 200000

#/ ef*f 600000

cGo ef*f 700000

ljdf cGo 500000

ljljw vr{ 1039400

tflnd tyf Ifdtf ljsf; 400000

Goflos ;ldlt ;;QmLs/)f tyf cGo 

Joj:yfksLo vr{ 650000

cjnf]sg tyf e|d)f kbflwsf/L 

cjnf]sg tyf e|d)f sd{rf/L 400000

sfof{no ;fdfu|L Joj:yfkg 1500000

dlxnf nlIft sfo{qmd 600000

cg'udg tyf e|d)f vr{ 500000

dlxnf :jd\ ;]ljsf k|f]T;fxg eQf 345600

hDdf 42181000 ;+#Lo /fhZj af*kmF*

;;t{ ah]^ 112300000

154481000

d]l;g/L cf}hf/ 2300000

;jf/L ;fwg 7500000

;km\^j]o/ vl/b, g]^jls{~ tyf sDKo'^/ 

tflnd 2000000

kmlg{r/ tyf lkmSr;{ 2000000

;dk'/s sf]if 2000000

hDdf 15800000 ;+rLt sf]if 

cfly{s ljsf; 

s[lif 2000000

kz' ;]jf 1000000

3000000

;fdflhs ljsf; 

lzIff 3000000

:jf:Yo 4000000

vfg]kfgL 3700000

v]ns'b -kflnsf :t/Lo v]nd}bfg lgdf{)f 

j*f g+=3 ? 1000000.00 3500000

;+lrt sf]if cg'dflgt 

;fNkfl;ln%f] ufpkflnsf 

ufp sfo{kflnsfsf] sfof{no 

cf=a= 2075.076 sf] ah]^ tyf sfo{qmd 

ljj/)f 

s'n ah]^ 

g]kfn ;/sf/af^ cg'bfg k|fKt 

ljlQo ;fdfGoLs/)f 

;;{t cg'bfg 

k|b]z ;/sf/af^ cg'bfg -/fhZj, ;jf/L s/  cg'bfg 

;lxt_

cfGtl/s /fhZj 

rfn' vr{

k'hLut vr{ 

g]kfn ;/sf/ /fhZj af*kmf* 

s'n ah]^ 

;;{t cg'bfg 



dlxnf ljsf; 1350000

cfdf ;d'x ejg lgdf{)f j*f g+= 6 500000

c?)f pkTosf cfdf ;d'x j*f g+= 1 -

l;kd'ns tflnd tyf uf]i&L_ 250000

dlxnf ljsf; sfo{qmd ;a} j*fnfO{ 1 

nfvsf] b/n] 600000

jfnjflnsf 300000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

blnt 300000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

ckf~ 300000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

hghftL -ejg lgdf{)f j*f g+= 5_ 500000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

u'?of]hgf ;fNkfkf]v/L 1500000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

ljleGg ;+# ;+:yf 200000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

ljkt Joj:yfkg 3200000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

len]h k|f]kmfO{n 1000000 e'QmfgLsf] ;|f]t ;+rLt sf]if 

hDdf 22850000

ef}lts k"jf{wf/ tkm{ 

j*fut of]hgf k|To]s j*fnfO{ 2500000 15000000

;*s 30250000

ejg tyf k"jf{wf/ ljsf; 24050000

ljB't 3000000

km]bL vf]nf xfO*««f] vf^fDdf_ j*f g+= 4 2500000

s]Gb|Lo ljB'tLs/)f 500000

72300000

113950000

lgld{t ;fj{lhs ;Dkltsf] dd{t ;'wf/ 130000

268061000

1000000

qm=;+= sfo{qmdsf] gfd ah]^ e'QmfgLsf] ;|f]t 

1 cf}ifwL vl/b 300000 k|b]z ;/sf/

2 al*hf] vl/b 90000 k|b]z ;/sf/

3 k|of]uzfnf ;fdfu|L vl/b 20000 k|b]z ;/sf/

4 cf}ifwL tyf ;fdfu|L ('jfgL 55000 k|b]z ;/sf/

5

e]*f kfng -j*f g+= 5 / 6 sf 2 

s[ifsnfO{_ 90000 k|b]z ;/sf/

6 a+u'/ kfng 150000 k|b]z ;/sf/

7 jf]On/ s'v'/f kfng -j*f g+= 2 / 3_ 60000 k|b]z ;/sf/

8

afv|f kfng sfof{qmd     -k|To]s 

j*fsf 1÷1 s[[ifsnfO{_ 170000 k|b]z ;/sf/

9 If]q÷k|b]z :t/ tflnd 65000 k|b]z ;/sf/

1000000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk OsfO{ kl/df)f b/ ah]^ e'QmfgLsf] ;|f]t

1 cf}ifwL vl/b tyf ;lh{sn pks/)f 1200000.00 ;+rLt sf]if 

2 sfo{qmd km/d]]^ %kfO{ ;+Vof 200000.00 ;+rLt sf]if 

3 kf&]#/ l:qmlg~ SofDk ;`rfng vr{ ;+Vof 3 100000 300000.00 ;+rLt sf]if 

4 Nofa ;`rfng tyf pks/)f vl/b ;+Vof 1 800000 800000.00 ;+rLt sf]if 

5 kl/jf/ lgof]hg tflnd ;`rfng vr{ ;+Vof 2 50000 100000.00 ;+rLt sf]if 

6 u|fld)f :jf:Yo lSnlgs ;`rfng :yfkgf ;+Vof 2 125000 250000.00 ;+rLt sf]if 

7 :jf:Yo ;+:yfsf] kmf]xf]/ d}nf Joj:yfkg j^f 0 100000.00 ;+rLt sf]if 

8 cf}ifwL ('jfgL vr{ ;+Vof 300000.00 ;+rLt sf]if 

s'n ljlgof]lht ah]^

ef}lts 

s'n k'hLut 

;fNkfl;ln%f] ufpkflnsf 

kz'k+IfL ;]jf zfvf 
cfly{s aif{ 2075÷076 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

s'n hDdf

;fNkfl;ln%f] ufpkflnsf 

:jf:Yo ;]jf zfvf

cf=a= 2075÷076 sf] of]hgfx?sf] af*kmf*

s'n ah]^ ?= 4000000.00



9

cfdf ;'/Iff tyf ue{jlt Pjd\ ;'Ts]/L 

k|f]T;fxg sfo{qmd 1 hgfnfO{ -1500_ sf 

b/n] 100000.00 ;+rLt sf]if 

10

lel*of] PS; /] ;`rfng tyf Joj:yfkg 

vr{ 2 50,000 100000.00 ;+rLt sf]if 

11 of]udfof :jf:Yo lzlj/ sfo{qmd ;`rfng ;+Vof 100000.00 ;+rLt sf]if 

12 ;ldIff uf]i&L ;`rfng 2 100000 100000.00 ;+rLt sf]if 

13 Ifo/f]u ;DaGwL cled'vLs/)f tflnd 1 50000 50000.00 ;+rLt sf]if 

14

jly{~ ;]G^/x?sf] nflu ;f]nf/ tyf 

;`rfng 2 200000.00 ;+rLt sf]if 

15 kflnsf :t/Lo :jf:Yo lzlj/ 100000.00 ;+rLt sf]if 

4000000.00

24050000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf e'QmfgLsf] ;|f]t 

1 ufpkflnsf k|zf;lgs ejg lgdf{)f 6000000 j*f g+= 3 ;dfgLs/)f

2

s'n'~ SofDk; v]nd}bfg lgdf{)f tyf 

sDkfp)* #]/faf/f 2500000 j*f g+= 1 ;dfgLs/)f

3 ;fd'bflos ejg lgdf{)f 700000 j*f g+= 5 ;dfgLs/)f

4 lzj dlGb/ lgdf{)f 500000 j*f g+= 6 ;dfgLs/)f

5 cfdf ;d'x ejg lgdf{)f 400000 j*f g+= 4 ;dfgLs/)f

6 l;xb]jL cfdf ;d'x kmlg{r/ Joj:yfkg  200000 j*f g+= 1 ;dfgLs/)f

7

cfxfn u}/L cfdf ;d'x kmlg{r/ 

Joj:yfkg  200000 j*f g+= 2 ;dfgLs/)f

8 lkof]s cfdf ;d'x dd{t ;"wf/ 400000 j*f g+= 2 ;dfgLs/)f

9 nDkm]jf ;fs]nf yfg lgdf{)f 350000 j*f g+= 4 ;dfgLs/)f

10 j*f sfof{no ejg dd{t 500000 j*f g+= 2 ;dfgLs/)f

11 j*f sfof{no ejg dd{t 2600000 j*f g+= 3 ;dfgLs/)f

12 lzj zlQm elQm cf>d lgdf{)f 500000 j*f g+= 1 ;dfgLs/)f

13 s'n'~ j'(]gL yfg lgdf{)f 500000 j*f g+= 2 ;dfgLs/)f

14 j/*f*f jhf/ u|fp)* lgdf{)f 0 j*f g+= 3 ;dfgLs/)f

15 w"jf/lxt r'nf] lgdf{)f 0 j*f g+= 2 ;dfgLs/)f

16 kGrsGof k|f=lj= d]Skf~ afnsIff lgdf{)f 250000 j*f g+= 4 d]Dkf~ ;dfgLs/)f

17 ufpkflnsf cfjf; ejg lgdf{)f 5500000 j*f g+= 3 ;dfgLs/)f

18 jL/]Gb| df=lj kmlg{r/ lgdf{)f 300000 j*f g+= 1 ;dfgLs/)f

19 ;fd'bflos :jf:Yo OsfO{ ejg lgdf{)f 250000 j*f g+= 4 ;dfgLs/)f

20

ah|l;+x ;fd'bflos :jf:Yo OsfO ejg 

lgdf{)f 250000 j*f g+= 2 ;dfgLs/)f

21 lk%'df ;v]jf yfg #]/faf/f 500000 j*f g= 5 ;dfgLs/)f

22 g]ef/]vf]nf sf&]k'n lgdf{)f 500000 j*f g= 6 ;dfgLs/)f

23 ;'lDkof rf]Vof~ uf]/]^f] af^f] lgdf{)f 150000 j*f g= 6 ;dfgLs/)f

24 ;fNkfkf]v/L ahf/ ejg lgdf{)f 700000 j*f g+= 5 ;dfgLs/)f

25 l;ln%f] hfg] af^f] dd{t 300000 j*f g+= 5 ;dfgLs/)f

hDdf 24050000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk ah]^ s}lkmot

1 %fq j[lt sfo{qmd 100000

2 ljW'lto xflh/L h*fg 850000

jL/]Gb| df=lj=  ?= 100000.00

&f]^g]/L df= lj= ?= 150000.00 

hfNkf df=lj  rf}sL*f*f ?=  150000.00

hfNkf b]jL df=lj= vf^fDdf ?= 175000.00

OGb|fjlt df=lj= ?= 175000.00

;fn]jf df=lj= ?= 150000.00

3 Ol;l* Joj:yfkg 600000 k|To]s j*fsf] 1÷1 j^f 

!fgf]bo k|f=lj= ? 100000.00

lbkHof]tL k|f=lj ?= 100000.00

;fpg] kGrsGof k|f=lj= ? 100000.00

rfku'/f; k|f=lj= ?= 100000.00

hDdf

;fNkfl;ln%f] ufpkflnsf 

ef}lts k"jf{wf/ lgdf{)f tkm{
;+;f]lwt of]hgf ;lxt 

hDdf ah]^

;fNkfl;ln%f] ufpkflnsf 

lzIff 

cf=a= 2075÷076 sf] of]hgfx?sf] af*kmf*

s'n ah]^ ?= 3000000.00



kGrsGof k|f=lj= j*f g+= 5 ? 100000.00

(f*ufp Ol;l* ?= 100000.00

4 cfwf/e"t ljBfno dd{t ;"wf/ 1200000 6 j^fnfO{ ? 200000 sf] b/n] 

nIdL ;fNkf cf=lj= ?=200000.00

rGb|fjlt cf=lj= ?= 200000.00

hgldq cf=lj= ?= 200000.00

cfOtaf/] cf=lj= ? 200000.00

lxdfno cf=lj= ?= 200000.00

;Demf}}tf ePsf] ;/:jlt cf=lj= ?= 200000.00

5 ;'lDgdf k|flj v]n d}bfg lgdf{)f 100000 j*f g+= 4 

6 kflnsf :t/Lo gd'gf ljBfno k|f]T;fxg 100000

7 z}lIfs k/fdz{ tyf uf]i&L 50000

3000000 e'QmfgLsf] ;|f]t ;+#Lo ;/sf/ /fhZj af*kmf*

30250000

qm=;+= sfo{qmdsf] gfd ah]^ &]ufgf ah]^sf] ;|f]t 

1 %lAa;] b]vL ;xsf/L df]^/af^f] :t/pGgtL 6000000 j*f g+= 1

;+#Lo 

;dfgLs/)f

2

a]~\v'jf b]vL bf]efg];Dd df]^/af^f] 

;/;kmfO 1000000 j*f g+= 5

;+#Lo 

;dfgLs/)f

3 cf]v/kfgL b]vL ljh]nf u}/f df] af lg 200000 j*f g+= 4

;+#Lo 

;dfgLs/)f

4 b]p/fnL b]vL tfDn'~ df]^/ af^f] lgdf{)f 250000 j*f g+= 2

;+#Lo 

;dfgLs/)f

5 cf]v|] sf/L ;*s lgdf{)f 1500000 j*f g+= 3

;+#Lo 

;dfgLs/)f

6 ;fbL d'*'n]rf}/ ;*s lgdf{)f 300000 j*f g+= 1

;+#Lo 

;dfgLs/)f

7 lhldufp tf/hfnL lgdf{)f 100000 j*f g+= 2

;+#Lo 

;dfgLs/)f

8 bf]efg] le/ af^f]sf] ;f]ln~ 250000 j*f g+= 6

;+#Lo 

;dfgLs/)f

9 a'lDn~ sfDn]^f/ ^\ofs cf]kg 1000000 j*f g+= 1

;+#Lo 

;dfgLs/)f

10 vf]kfnL ufp df]^/af^f] dd{t 1500000 j*f g+= 2

;+#Lo 

;dfgLs/)f

11 ss'jf sh j] tyf Uoflj~ jfn lgdf{)f 1500000 j*f g+= 3

;+#Lo 

;dfgLs/)f

12

ufpkflnsf b]vL tfa'^f/ df]^/af^f] 

:t/pGgtL 1500000 j*f g+= 3

;+#Lo 

;dfgLs/)f

13 tfnvs{ df]^/af^f] lgdf{)f 400000 j*f g== 3

;+#Lo 

;dfgLs/)f

14 ;fpg] ;fs]r'~ df]^/af^f] lgdf{)f 300000 j*f g+= 4

;+#Lo 

;dfgLs/)f

15

ofS;f j*f sfof{no lndlvd df]^/af^f] 

lgdf{)f 2000000 j*f g+= 4

;+#Lo 

;dfgLs/)f

16

;fn]jf km]bL df]^/af^f] ;/;kmfO{ tyf 

lgdf{)f 2000000 j*f g+= 5

;+#Lo 

;dfgLs/)f

17 bfefg] nK;] vl/af]^] ;*s lgdf{)f 3700000 j*f g+= 5

;+#Lo 

;dfgLs/)f

18

/ftdf^] dflyNnf] lj~\df s[lif ;*s 

lgdf{)f 900000 j*f g+= 5

;+#Lo 

;dfgLs/)f

19 bf]efg] bfdynf :jf/f df]^/af^f] ;kmfO{ 1750000 j*f g+= 6

;+#Lo 

;dfgLs/)f

20 gfª\n] y'Dn'~ df]^/af^f] lgdf{)f 1700000 j*f g+= 6

;+#Lo 

;dfgLs/)f

21

gfª\n] of~\df cf]v/af]^] df]^/af^f] 

:t/pGgtL 2200000 j*f g 6

;+#Lo 

;dfgLs/)f

22 b]p/fnL b]vL tfDn'~ tf/hfnL lgdff{)f 200000 j*f g+= 2

;+#Lo 

;dfgLs/)f

30250000

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk ah]^ &]ufgf e'QmfgLsf] ;|f]t 

1 ufpkflnsf vfg]]kfgL of]hgf 250000.00 j*f g+= 3 k|b]z ;/sf/ 

2 ss'jf vfg]kfgL of]hgf 0.00 j*f g+= 3 k|b]z ;/sf/ 

3 bfdynf vfg]kfgL of]hgf 600000.00 j*f g+= 6 k|b]z ;/sf/ 

hDdf

;fNkfl;ln%f] ufpkflnsf 

;*s lgdf{)f tkm{
cfly{s aif{ 2075÷076 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

;fNkfl;ln%f] ufpkflnsf 

vfg]kfgL tkm{

cf=a= 2075÷076 sf] of]hgfx?sf] af*kmf*

s'n ah]^ ?= 3700000



4 s'n'~ rf}sL*f*f vfg]kfgL of]hgf 500000.00 j*f g+ 1 k|b]z ;/sf/ 

5 af# af] vfg]kfgL of]hgf 200000.00 j*f g+= 4 k|b]z ;/sf/ 

6 tNnf] lndlvd vfg]kfgL of]hgf 200000.00 j*f g+= 4 k|b]z ;/sf/ 

6 rf]Dkmf] vfg]kfgL o]fhgf 500000.00 j*f g+= 5 k|b]z ;/sf/ 

7 bfuj]nf Tofn'~ vfg]kfgL of]hgf 500000.00 j*f g+= 2 k|b]z ;/sf/ 

8 kfvf ufp vfg]kfgL of]hgf 250000.00 j*f g+= 1 k|b]z ;/sf/ 

9 tNnf] #n]ufp vfg]kfgL of]hgf 100000.00 j*f g+= 1 k|b]z ;/sf/ 

10 :s'n*f* ljr^f]n vfg]kfgL of]hgf 200000.00 j*f g+= 1 k|b]z ;/sf/ 

11 ;fkvf]nf vfg]kfgL of]hgf  200000.00 j*f g+= 3 k|b]z ;/sf/ 

12

tfDn'~ tyf v*\sf ufp cfg]kfgL kfOk 

vl/b 200000.00 j*f g+= 2 k|b]z ;/sf/ 

3700000.00

qm=;+= sfo{qmdsf] gfd tyf lqmofsnfk OsfO{ kl/df)f b/ ah]^ e"QmfgLsf] ;|f]t 

1 Knfli^s #/ ljt/)f 50 k|ltzt ;fem]bf/Ldf ;+Vof 120 4000 480000.00 k|b]z ;/sf/ 

2 t/sf/L l;* ls* ljt/)f ;+Vof 200000.00 k|b]z ;/sf/ 

3 ds}sf] l;* ls* ljt/)f ;+Vof 39000.00 k|b]z ;/sf/ 

4 #'DtL ;]jf :ynut tflnd ;+Vof 12 6000 72000.00 k|b]z ;/sf/ 

6

;'Gtnf hftsf] au}rf :yfkgf sf] nflu ljh' 

lj?jf ljt/)f 50 k|ltzt ;fem]bf/Ldf  ;+Vof 100000.00 k|b]z ;/sf/ 

7 t/sf/Lsf] Kofs]h k|b{zg j^f 102 1000 102000.00 k|b]z ;/sf/ 

8 sfo{qmd ;fdfu|L ("jfgL ;+Vof 100000.00 k|b]z ;/sf/ 

9

Rofpsf] ljp ljt/)f 75 k|ltzt d'No 

;fem]bf/Ldf ;+Vof 50000.00 k|b]z ;/sf/ 

10 a]df};ld t/sf/L v]tL tflnd 6 6000 36000.00 k|b]z ;/sf/ 

11 k|f+ul/s dn agfpg] tflnd 6 6000 36000.00 k|b]z ;/sf/ 

12 cfksf] lj?jf ljt/)f  25000.00 k|b]z ;/sf/ 

13.00$  

 df}l/ kfng #f/ ljt/)f sfo{qmd 50 

k|ltzt d'No ;fem]]bf/Ldf  400000.00 k|b]z ;/sf/ 

14

df%f kfng kf]v/L vgfpg] 50 k|ltzt d'No 

;fem]bf/Ldf 24 15000 360000.00 k|b]z ;/sf/ 

2000000.00

2000000.00

qm=;+= sfo{qmdsf] gfd ah]^ s}lkmot

1 ;+v'jf vf]nf hn ljB't 700000 j*f g+= 1 

2 Ov'{jf hn ljB't 100000 j*f g+= 3 

3 ss'jf vf]nf emf]k' 150000 j*f g+= 3 

4 s'n'~ :jf:Yo rf}sL 400000 j*f g+= 2

5 Sjfbf] vfg]kfgL 100000 j*f g+= 5

6 ;fd'bflos :jf:Yo OsfO{ u'?~ufp 100000 j*f g+= 4

hDdf 1550000 afsL ?450000.00

15000000.00

qm=;+= sfo{qmdsf] gfd ah]^ e'QmfgLsf] ;|f]t

j*f g 1

1 af^f] ;/;kmfO{ 1100000 ;dfgLs/)f

2 a*x/] cu|fv] vfkf of]hgf 300000 ;dfgLs/)f

3 zflGt o"jf Snj ejg lgdf{)f 400000 ;dfgLs/)f

4 sfDn]^f/ ;fd'bflos ejg 250000 ;dfgLs/)f

5 a'DnL~ elQm cf>d 150000 ;dfgLs/)f

6 b'~\df vfg]kfgL of]hgf 100000 ;dfgLs/)f

7 tNnf] #n]ufp vfkf of]hgf 100000 ;dfgLs/)f

8 rf}tf/] *f*f vfg]kfgL of]hgf 100000 ;dfgLs/)f

2500000 2500000.00

j*f g+= 2

1 af^f] ;/;kmfO{ 1500000 ;+rLt sf]if 

2 a'(]gL yfg ;+/If)f 300000 ;+rLt sf]if 

3 b]p/fnL tfDn'~ tf/hfnL 200000 ;dfgLs/)f

4 &f]^g]/L dflj dd{t ;"wf/ 100000 ;dfgLs/)f

5 ;]/f^f/L lzjfno dlGb/ Joj:yfkg 100000 ;+rLt sf]if 

6 ;fpg]wf/f ;fd'bflos ejg 100000 ;+rLt sf]if 

7 vdf/] ufp#/ lSnlgs 100000 ;+rLt sf]if 

8 l;+xb]jL dlGb/ Joj:yfkg &f]^g]/L 100000 ;+rLt sf]if 

2500000 2500000.00

j*f g+= 3 af^f] ;kmfO{ tfn vs{ ;d]t 1200000 ;+rLt sf]if 

hDdf

;fNkfl;ln%f] ufpkflnsf 

j*fut of]hgf 
cfly{s aif{ 2075÷076 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd 

hDdf ah]^

hDdf

hDdf

;fNkfl;ln%f] ufpkflnsf 

s[lif ;]jf zfvf

cfly{s aif{ 2075÷076 sf] nflu ufpkflnsfaf^ ljlgof]lht ah]^ cg';f/sf sfo{qmd -e'QmfgLsf] ;|f]t ;+rLt sf]if_

hDdf ah]^

cf=a= 2075÷076 sf] of]hgfx?sf] af*kmf*

s'n ah]^ ?= 2000000.00

hDdf

;fNkfl;ln%f] ufpkflnsf 

;dk'/s sf]if 



tfa'^f/ b]vL hosnf df]^/af^f] dd{t 

;"wf/ 600000 ;+rLt sf]if 

v]n d}bfg lgdf{)f wf]ljvf]nf 200000 ;+rLt sf]if 

gd'gf cfdf ejg lgdf{)f 200000 ;+rLt sf]if 

u}/Lufp vg]kfgL of]hgf 150000 ;+rLt sf]if 

ss'jf sh j] lgdf{)f 50000 ;+rLt sf]if 

s kf~\b'/] ltgtfdf l;+rfO{ of]hgf 100000 ;+rLt sf]if 

2500000 2500000.00

j*f g+= 4

1 df]^/ af^f] ;kmfO{ 1300000 ;+rLt sf]if 

2 ljh'nL 1000000 ;+rLt sf]if 

3 ;fd'bflos :jf:Yo Os[O{ ejg lgdf{)f 200000 ;+rLt sf]if 

2500000 2500000.00

j*f g+= 5

1

/ftdf^] dflyNnf] lj~\df s[lif ;*s 

lgdf{)f 1100000 ;+rLt sf]if 

2 gfu]Zj/L dxfb]j u'kmf #]/faf/f 150000 ;+rLt sf]if 

3 l;$fjlt k|f lj ejg dd{t 150000 ;+rLt sf]if 

4 lk%'df dxfb]j yfg dd{t  150000 ;+rLt sf]if 

5

;fNkf kf]v/L hfg] #f]*]^f] af^f] dd{t 

;Def/ 400000 ;+rLt sf]if 

6 ufp#/ lSnlgs dd{t ;"wf/ RofS;Lnf 100000 ;+rLt sf]if 

7 dft]n ufp#/ lSnlgs ejg lgdf{)f 450000 ;+rLt sf]if 

2500000 2500000.00

j*f g+= 6

1 bf]efg] y'Dn'~ ;*s ;e]{ tyf lgdf{)f 1500000 ;dfgLs/)f

2

gf~\n] of~\df cf]v/af]^] ;*s ;e]{ tyf 

lgdf{)f 1000000 ;dfgLs/)f

3

;fn]jf ^f]n k|x/L rf}sL x]Nykf]i^ j*f 

sfof{no ;Dd vfg]kfgL of]hgf 0

2500000 2500000.00

hDdf


